Name: % ‘e u
E_quations andjlopcs of Parallel and Fchcndicular Lincs: HW #2

Hour:

Determine whether MN and RS arve parallel, perpendicular, or neither.

1. Mi-2,2), N1, —-3), Ri—2, 1), 813, 4) y3e2 MU0, 03, N2, 4), Ri2, 1), S{8, 4)

5

-3
PWCU war_ Slope MN: 3_/3 Slope MN: LQ’_
Slope RS: 45 Slope RS: _ﬁ)

Nelther

Find the slope of MN and the slope of any line perpendicular to MN,

V2 M4, —2), N(5, 3) + 24 M(2,-3), N(—4,1)
‘ 2
Slope of MN : Slope of MN : _ 3

- 3
1 slope: __/ : 5 1 slope: /a,

5.) Write the equation of a line in slope intercept and point slope form which pass through the
—X’/I/ points A(5,1) and B(8,-2)

Slope intercept Point-Slope
-l -3 -2=-1(§) +b Y-l=-(x-5)
-5 3 = b i
"M==\

\/"‘XHDJ Y+q=-1(x~¢)

X 1 6.) Write the equation of a line in slope intercept and point slope form which pass through the
points A(-5,-2) and B(-8,-2)

Slope interce Point-Slope
*;‘-gzi I¥=-21 Y41 =0(x +¥)
- -3

mM=0 [\/ .H"—D(




Hour:

Name:

X/VI) Write the equation of a line in slope intercept AND point-slope form which is parallel to
y= —%x — 6 and passes through the point (-3,2).

Slope intercept ‘ Pomt -Slope
| Y
= -t Ty IxH Y-2=-3(x+3)
Aa = §I_'_( 3) + b —_
|
2= b
i 8.) Write the equation of a line in slope intercept AND point-slope form which is parallel to
y = —2x — 7 and passes through the point (-1,-2).

>

Point-Slope

m/ = — 7, Slopeintercept
-2=-2(-N +b Y+a=-a( x+)

\-4 =bl
- /(/-_—;Lx-‘v’j

Vv 9.) Write the equation of a line in slope intercept AND point-slope form which is perpendicular to
X 2x +y = 5 and passes through the point (2,-2).

m —- - 2_ Slope iptercept Point-Slope
1 )7/ !x__g 7’+7_=o%(><-—ﬂ

10. ) Write the equation of a line in slope intercept AND point- -slope form which is perpendicular to
——x y =15 and passes through the point (0,-15).

Point-Slope

_w2.
7/+I 5 ‘\La\/ ><'

m = Slope intercept
m



